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1 =[5 points] math

2. [5 points] math

Answer: Answer:
3- [5 points] math 4. [5 points] math
Answer: Answer:
5- [10 points] math 6- [20 points] math
Answer: Answer:
7. [20 points] math 8. [10 points]
The “area” under the graph is equal to the work (W)
done on the block.
W= f Fdzx
1 1
ZEXSmXALN + 2m x 4N + 5><2m><4N = 18]
Answer: Answer: 18 J

9- [10 points]
The wavelength (4) and the frequency (f) of light is
related as A f = ¢, where ¢ is the speed of

electromagnetic waves.

Therefore, the wavelength is obtained to be

y o ¢ (30x10°m/s)

= 0.15m = 15cm
f (2.0x10°Hz)

Answer: 15 cm

1 0 « [10 points]

The equivalent resistance of the 3-Q and the 6-Q resistor
is (3x6)/(34+6)=2Q. Then, the equivalent resistance
of three resistors is 202 + 4Q = 6Q.

The current flowing across the 4-Q2 resistor is

162% = 2A. Therefore, the power dissipated in the 4-Q

resistor is (2A)? x4Q = 16 W

Answer: 16 W




